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Algebra I — Unit 9: Topic 3 — Solving Quadratics by Factoring

Practice - Solving Quadratics by Factoring pp 630-635
Name Date Period
Solve the equations below by factoring.
1. (Bx-2)(4x-3)=0 2. 4x? —6x +9=06x
3. x*=8x-16 4. 12x7 —1=—-x
5. x*+2x=15 6. 2x? = -4-6x

Given the roots find the quadratic equation.

7. x:{-3,7} 8. x:{—%A




8 Quadratic Formula.notebook March 28, 2014

Algebra I — Unit 9: Topic 3 — Solving Quadratics by Factoring

9. Which equation best represents the graph shown?

A (x-2x+1)=y \ I /
B (x+2)x+L)=y ] [ \ S /
C (x+2)x-L=y
D (x-2)(x-1)=y
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11. The area of a rectangular floor is described by the equation fv(w —9) = 252 §here wis the width of the floor in

meter, atis width of the floor? - 2.
m =252 . \;"Sg"" 252

12. A group of friends try to keep a beanbag from touching the ground without using their hands. Once the beanbag
has been kicked, its height can be modeled by A =-16¢% +14f + 2, where A is the height in feet above the
ground and tis the time in seconds. Find the time it takes the beanbag to reach the ground.

12, The length of a rectangle is 3 cm more Ehan the width. T 70 square centimeters. Find the dimensions
of the rectangle.
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Algebra I — Unit 9: Topic 3 — Solving Quadratics Using the Ruadka rF
Practice - Solving Quadratics Using the Quadratic FOr

Name Dati
Answers will be posted at http://www.mskmathrhs.weebly.com.

Find th solutions for each equation using the discriminant. Show your
work or draw the corresponding picture.

1. 2x'-x=21 2. 5x*+12x+8=0

3. x*+25=10x 4, 4=-16x*+12x

Solve the equations below using the Quadratic Formula. Round solutions to the

nearest hundredth, if necessary. ’A\ A Q_C\ o S\S

5, 4x*+7x=15 6. 10x* -3x-1=0
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Algebra I — Unit 9: Topic 3 — Solving Quadratics Using the Quadratic Formula
Solve the equations below using the Quadratic Formula. Round solutions to the

nearest hundredth, if necessary. C\,-\B\;\ 6) Q__\/\
8. 8/ +8-6-9 Yo X

7. -2 +z=-14

9. A rectangle with an area of 91 square meters has dimension of (x+2) meters and (2x+3)
meters. Solve for the dimensions of the rectangle. Round to the nearest tenth of a meter.

10. For the period 1990-2000, the amount of money, y (in billions of dollars) spent on advertising
in the U.S. can be modeled by the functiog™7 = 0.93x* + 2.2x + 130 vhere xis the number of
years since 1990. In what year was 164 billion dollars spent on advertising?

1L4=0.9%X*+2-2X +|20
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